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MR JREASE ér = éee, é@ = —éer L0

r=re,
vV =re, + réeg
a=(i— r92)er + (27;9' + ré)eg

HARERE : &, = fe,, = (v/p)en, £ D

V = Vet
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F =ma

/F-vdt:/mv-adt

v=dr/dt,a=dv/dt £V
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U+ FE = imUQ
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L#F :L=rxp iz t Mo
L:i'xp+r><p
r=v|p &VE1H=0, p=F 2DT
L=rxF=N
N=0%6lX, L=—&&45, MHEEETIX

L =re, x m(re, + réeg) = mr2fe, % t 5 LT

L= mr(%é + ré)ez =rFpe, =N
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K5y v vl | F=-VU | [F-dr=-U
o VxF=0| §F-dr=0
V-V=A:575 7V
VxV=0
VA =gradA : gl (X7 bv, [HE] )
V-A=divA : BEHL (AA 7 —. TFEU )
V x A =rotA : i (X7 Fb, THER] )
V(A+B)=VA+ VB
V-(A+B)=V-A+V-B
Vx(A+B)=VxA+VxB
V(AB) = BVA + AVB
V. (AB)=VA-B+ AV - B

Vx(AB)=VAxB+ AV xB

W ADFKMER : [(A-dS= [, V-AdV
Ar—2 ADER : §,A-dr = [((V x A)-dS
Vr =e,

V.-r=32RioEsaE2)

Vxr=0 (V=0/or LEIGEHD)
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KRR BE £ =B
coshf = (e? +e79)/2 | cosf = (e +e=19)/2
sinhf = (e/ —e79)/2 | sinf = (e¥ — e~)/2i
cosh?6 — sinh?6 = 1 cos?f + sin?f = 1
(coshf)’ = sinhf (cos#)’ = —sinf
(sinhf)’ = coshf (sinf)" = cosf
(tanhf)’ = 1/cosh?@ (tanf)’ = 1/cos?
=1 — tanh®0 =1+ tan?0
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a? — 22 = x = asinb, acosd, atanhd

a’® + 22 = = = atanf, asinhd

22 — a? = x = acoshf

= Va2 + b%, tanf = b/a

a+ bi = ret



